19

10




&EH 4. RD

(B ®)
BB 51T B KINSARE

1. BB K -oooeomoeeoooee s

.1 BETEHRY -
1.2 fREHhHE -

2. KINEETILOEE  ----oommmmmmmmmmmm e
2.1 BEEFAERDOEZST -----mmmmmmmmmmm e
2.2 KINZEFNAERDOBEITFNE -----mmmmmmmmmmmm oo

3. KINZDIEEFHER

3.1 BEEMRES --oor-eeeooooooeeeeooo oo
3.2 HUTATEYOMER ---mmmmemeemssmms oo

3.3 BRI R

3.4 RBMIHOWSTEAGR ~--mmmmmmmmmmmmomemeee s

KRz A H B AR B 4

4. BRERBEOKBEEDERS ---mm-oommmmmmmeenee

5. HBAKEINXZ


oyo
線

oyo
線


oyo
線



1.1

1.1-1

Ks2

RD

A

1.1-1

1.2

1.2-1

1.2-2

HF KA K
T@EK (G)

WSTEERES B LR L hoKsS (W)
Rk (Q) BHAKEHKE

1.2-1
S o)
Pemp——
HELLADORROEEL B @

EmiELNR

4
@ - oo
L e} ] i nronen
RS : E & ~\o BN

i
e

5
''''''



2.1

Gr
G

q
A

Ne
(du/dt)
R

E
Q

s AROEHE TR AR A
s HE R KK &

s A 3 k) S q
RO FEhERE (=0.2 FEE)
D ORI L

MR E

D R &

Ks2

HoEHEE R ) - BAE (R) - EEREE (E)

Gr+ Gno — q — Guen = A *ne - (du/dt)

Ve F25 & i “‘le AR

4

l R WahEmE
-




2.2

2.2-1

s
Kl
s LS
L™ ]
il "
-
"

LT oy e T
b il LT T R S | L

TEENENTEY Pl T RACHEA RGN,
DEECBINT. BEEAERE LD

2.2-1

Ks2 Ks3

Ks2 Ks3

by ikt

2.2-3

2.2-2

BEEKINZ I

A 4

A

™ R

EFER E
A Ks: 3 [EiEER

1

1

i o »
. < >

l hEHEHE Q
—

Ks3 ﬁ;?k Grs
l Ks2 iE3#K Grs

1 BEKGn
v
du/dt(1)

= :
T -
du/di(2) I.{§?3-_-_____-—' .........................&Q ..... - K82
= Ks2
L@

2.2-2

b Ly it

Ks3

v

BE YK 15 Ks; [&iEH#E Ks: [EEES

F 3

Hh i

Y

MW R ZEFEHE

P i

@« v
R B

2Bk Gri A
i ' mEAE Q
—

Ks3 E# K Gro

Ks2 %Kk Grs

FETERTTTY
A

rrrnnns

Ks2 2%k Gre

2.2-3



2.2-4
Grl
R = R E
R = Q Grl Grl
Grl = Gr2 Gr3 Gr4 + (dwdt)

Gr2 Gr3 Gr4 + (dw/dt)
A

Ks3
Ks?
BREWKIN 15
W R RRE B
l A
wREH Q |
‘—
! BEKGn
v
SRy (710 R |
I BEK G

/’-’_J i. : E .
Ks3 i@&K Grs s
Ks3 :

Ks2

2.2-4



3.1
RD

3.2-1
8,794m?2
Ks2
Gr2 Gr3 16% Ks2

R
y v
- - al ............... Ks2 Ks3
7 e
« Ks2 Ks3 ¥
" Ks3 i1 Ks2
gl e Ks2 Ks3 [\ '
___________ ‘__________________.-._.-.4
3.1-1 RD

Ks2
Ks3
Ks2 4,491m?
Ks3 4,303m?
8,794m’
3.2-1 Ks2

Ks2 Ks3
53,413m?2 16%
Ks2
Gr4
Ks3




3.3

3.4
3.3-1 3.4- 3.4-2
Kss Ks2
V) Wikt BEEYIKINZ 1 Ks; BiEEE Ks: [BiHEE
Ll ’
R E
S e (N OSSOSO |
Q : e R ﬁ%*ﬁ E
-+— I
R E tﬁ’.ﬁuu.tﬂ Q :
Grl f --.- sl T essssssssssassssssssasanannEnEnan LR S NN NN NS N NS NSNS EEEEEEEEEEEEEEEEEEE
p ———_:—_'I(r{,/zrt(i) _________ : | IS . ¢ S IS £ l A
P Ks3 Grs ks2 Grs : _______ "HRFAE Q
;o Grs . . . : S (7. —
Ks3 &2k Grs Ks2 m#&EA Grs
Ks2 @%K Gry
:305 m3 99 m3 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Q=64m: (i

—
Ks2 Ks3 :

B Ks2 Ks3
\
Gr4 = 12m3 & Gr =142m3 3.4-
[ | i
; : | Gr6 =4.m3 |
-1 GH4=68m? | Ks3 | Gr3=64m? | < [ Gr5 = 16m°
v
< {GH2 = 82m? | Ks? [Gr2 = 66m | <
3.1-1



64m3/

21.0

.
A4
- Ks2 Ks3

% —r
¢ Ks?2 Ks3 Ks3 Ks2
R e —

<. __________________________

3.4-2 RD

<
142m3/ i
46.7
I
v
v
142ms3/
100
12m3/ [
o .' | |
Ks3 I(s%
v ,
64m3/ ¢ 66ms3/
44.8 130m3/ 46.6 v
I
; —
4ms3/ 16m3/
64m3/ 5.8 66m3/ 22.6
94.2 77.4
J i \
v p—
4_ KS3 4__ KS2
v
68m3/ 150m?/ 82ms3/
100 100
v




4.1

4.1.1

30

10km

4.1.2
2.2-1

(BIENEFLE Corp’

20 SHIGA
RD
1979 2000 22
1576.5mm 14.8
4.1.2-1
(mm) () () () (m/s) ()
1979 2000J1979 2000{1979 2000{1979 2000{1979 2000{1987 2000

22 22 22 22 22 14
1 51.9 4 7.6 0.8 15 108.8
2 64 4 77 0.7 15 112.7
3 125.4 7.2 114 3.2 14 141.2
4 132.7 12.8 17.7 8.1 14 166
5 171.9 17.7 22.6 131 1.3 155.7
6 244.5 21.7 258 18.1 1.2 107.5
7 212 25.6 29.6 22.2 1.2 132
8 150 26.9 314 23.2 1.3 179.2
9 1913 229 27 194 1.2 1344
10 1152 16.8 212 129 1.2 145.7
11 78.8 11.3 155 7.3 1.2 133.3
12 411 6.3 10.2 2.8 14 1285

1576.5 14.8 19 11 1.3 1649.7

4.1.3

Thornwaite
4.1.2-2
1 6.7 438
_ a
=16(10T/1) > 67 13
1= (Ti/5)"*" 3 17.1 159
_ 2 3 -6 4 425 41.0
a=(492390+17920><1-77.1<1*+0.675>|° ><10 : =13 =57
Et mm/ 6 98.2 95.4
Ti 7 127.6 120.8
8 138.0 129.6
9 106.9 101.6
10 65.4 62.5
11 34.9 32.1
12 13.8 113
728.9 689.5
(Et)
Et
=0.7x<Et
= 07 % ¢t
= 0.7 < 7289mm = 510mm
4.1.2-3
Et E
1 6.7 47
2 6.7 47
3 17.1 12.0
4 425 29.8
5 71.1 49.8
6 98.2 68.7
7 127.6 89.3
8 138.0 96.6
9 106.9 74.8
10 65.4 45.8
11 34.9 244
12 13.8 9.7
728.9 510.2
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2.4-1
mm (mm)
1 51.9 47
2 64 4.7
3 1254 12.0
4 132.7 29.8
5 171.9 49.8
6 2445 68.7
7 212 89.3
8 150 96.6
9 191.3 74.8
10 115.2 45.8
11 78.8 24.4
12 41.1 97
1576.5 510.2
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5.1

5.2

R = R E

R = Q Grl

Grl = Gr2 Gr3 Gr (dw/dt)

R E = Q Gr2 Gr3 Gr4 (dwdt)
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5.2-1
5.2-1
R mm E(mm) R” mm (m3) 1(m3)| ks2 Gr4(m3) | ks3 Gr5(m3)
1 51.9 4.7 472 1,031 2,295 258 63
2 64 4.7 59.3 1,295 2,883 324 80
3 125.4 12.0 1134 2,478 5,515 620 151
4 132.7 29.8 103.0 2,249 5,005 563 137
5 1719 49.8 122.1 2,668 5,937 667 164
6 2445 68.7 175.8 3,839 8,545 960 235
7 212 89.3 122.7 2,680 5,964 670 165
8 150 96.6 53.4 1,166 2,596 292 72
9 191.3 74.8 116.5 2,544 5,662 636 156
10 115.2 458 69.4 1516 3,375 379 93
11 78.8 24.4 54.4 1,188 2,643 297 73
12 411 9.7 314 687 1528 172 42
1576.5 510.2 1066.3 23,340 51,950 5,839 1,430
o} R = 1066.3 mm
N a=0.31
Q=A1 031 R Grl=Al1 0.69 R
A1=70,458m2
o R 75,290 m3
o Q = 23340 m?
o Gr = 51,950 ms3
o Gr4
Gr4a = A3 k
= 250m2><0.057><1.0<10" cm/sec
><1/100 m ><60 ><60 =24 =< 365
= 4,494 m3
oKs? Gr5
-~ Grb = a <X R E x<A4
= 1-0.65 >=<1066.3 mm >x<15,612 m?2
= 5,839 ms3
oKs3 Gr6
-~ Gre = a X R E xA5
= 1-0.65 >=<1066.3 mm =< 3,833 m?
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Gr2 Gr3 =Grl Gr4 = 51,950 m3 4,494 m3
= 47,456 m3
Gr2 =0.51><47,456 m3 = 24,203 ms3 —» Ks2
Gr3=0.49><47,456 m3 = 23,253 m3 —> Ks3
oKs2 GH2
-~ GH2 = Grb5 Gr2
= 5,839 m3 + 24,203(m3 )
= 30,042 (m3 <
= 823 (m3
Ks2 GH2 = Q 61,276 m3
Q A V = 1400 m2 < 21 m/
= 29,400 m3 <
A Ks2 200m>< 7m 1,400m2
A\ cm/sec - V=21m/
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